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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

HehfeTd Udter - 11
SUMMATIVE ASSESSMENT - II

ot

MATHEMATICS
Reifa qas : 3 gue SfeIBaT 37 : 90
Time allowed : 3 hours Maximum Marks : 90
30/2 1 P.T.O.

Schedule a Tutoring Session today!
Call Now: 91729 66488 )

wWww . premacademy . com




Place for Rational & Educational Motivations!!

QT 3397 :

i) @t 3e7 e &

(i) ST YH-97 H 31 I97 8 51 IR @US] — 37, &, § 3N T H faunfaa & /

(iii) @YS 37 H Uh-Uah 37 it 4 J97 8 | @S § § 6 ¥97 & 578 @ J9% 2 37%
FTE | @8 G F 10 I97 @F-d17 371 & & | @ ¢ H 11 ¥97 3 574 @ 39%
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(iv) Serpeictl & JFIT 1 IFAIT 77 8 |/

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iit) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

@ ue A
SECTION A

J9T GEIT1 T4 7% J9F Jo7 1 3FH FT 38 /

Question numbers 1 to 4 carry 1 mark each.

1. 3fg 30 . =0 wh HAR, 4| W 103 H. et ST T4 @, d g B IAH
IV T 7 ?
If a tower 30 m high, casts a shadow 10+/3 m long on the ground, then

what is the angle of elevation of the sun ?
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900 Sl % Th & W U ATgeodl Uh U A4 W HIl g U fyeher i
IReRdT 0-18 8 | @ § U U Hall hl H&AT A1 & ?

The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?

T GHI A, fEH ay, —a, =84 2, %1 W HAA AT E ?

What is the common difference of an A.P. in which a9y — 8y = 84 ?

afe e e foig P& a e @ O g a1t 99 W @ T @ wi et %
&= &1 I 60° &, I OP i &eTE 1d hIfST |

If the angle between two tangents drawn from an external point P to a

circle of radius a and centre O, is 60°, then find the length of OP.

@ us d
SECTION B

Yo &I 5 G 10 TF JoI% Jo7 &2 3% & |

Question numbers 5 to 10 carry 2 marks each.

30/2

T @ y-31& A x-31& Bl HAM: f0g3 0 P q Q W Jid=sg Hdl & | A
(2, - 5), PQ 1 wea-fag &1, @1 P« Q % eemes 9 Hifg |

A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, — 5) is the mid-point of PQ, then find the coordinates of P and Q.

Iie P(x, y) 1 A5, 1) @1 B(- 1, 5) & gl 9@ =, @ fag Hive &6
3x = 2y.

If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then prove
that 3x = 2y.
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p %1 98 A F1a shifoe fores forw fgama wefiertor px? - 14x + 8 = 0 1 T T
EH 6T B |

Find the value of p, for which one root of the quadratic equation
px2 —14x + 8 = 0 is 6 times the other.

fag Hifse T gu # freht Sfar & o7a fogett w i T woeiX@rd Sfer &
1Y GHME I ST 8 |

Prove that the tangents drawn at the end points of a chord of a circle
make equal angles with the chord.

ws g foReft wgdst ABCD &1 @ft =il et ot Tt st 7 | fag fifsre fp
AB + CD =BC + DA

A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB + CD =BC + DA

TR UG 8, 14, 20, 26, ... T HIH-HT U 3Hb 419 U H 72 3ferh g 2
Which term of the A.P. 8, 14, 20, 26, ... will be 72 more than its 415" term ?

Qs |
SECTION C

Y97 G&IT 11 @ 20 7% JI% Fo7 & 3 3% § |
Question numbers 11 to 20 carry 3 marks each.

11.

30/2

Th 3F AR & o919 ) fommd 44 . x 2.6 Ht. x 1:0 . 3 | 30 U=t
30 9t it B R 5 9 AR +1 U WiEdT SR 9189 ST T
3 | UTSY < T8 {1d HINT |

The dimensions of a solid iron cuboid are 44 m x 2:6 m x 1-0 m. It is
melted and recast into a hollow cylindrical pipe of 30 cm inner radius and
thickness 5 cm. Find the length of the pipe.

4
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12. & TS I H, O hg TSl a1 Hehad gal hl B 21 Tt dum 42 T 7 |
Ife « AOB = 60° 8, Al DHTfhd W T &THA T hIfT |

[n=27—292ﬁmﬁﬁm]

AT

N\
/

In the given figure, two concentric circles with centre O have radii 21 cm
and 42 cm. If £ AOB = 60°, find the area of the shaded region.

[Userr=§]
1

///T TN

13. 54 7. =it 3 1-8 1. el wh Tt § urt 25 fRfi/ave i fa § ww @ R
308 40 fire # fohan gt A1 e &1 TRt 2, afe R & faw 10 o
Tl U Sl AT B ?
Water in a canal, 54 m wide and 18 m deep, is flowing with a speed of

25 km/hour. How much area can it irrigate in 40 minutes, if 10 cm of
standing water is required for irrigation ?

30/2 5 P.T.O.
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g (2, ), figdl Pe, 2w QG, 1 F e a9 Yards #

IuTd § fawrfora &t 8 2 y o1 o off 3ma i |

In what ratio does the point (%, yJ divide the line segment joining the

points P(2, — 2) and Q(3, 7) ? Also find the value of y.

T HER 6 9G¥ o arct el {@1 W 9Ig ¥ wEs: 4 W a9 16 W A
gaimagfgcapfeme | afg ca D AR % Rraw & 3790 &
g 3 e 3, A s B e i )

On a straight line passing through the foot of a tower, two points C and D
are at distances of 4 m and 16 m from the foot respectively. If the angles

of elevation from C and D of the top of the tower are complementary, then
find the height of the tower.

T IA H 15 Ahe AT S HIeit e & | Al I T A T HIeht g et 6
SRR T T e R ) Wi 6 A T A, @ 4 e
&I {14 HIT |

A bag contains 15 white and some black balls. If the probability of

drawing a black ball from the bag is thrice that of drawing a white ball,
find the number of black balls in the bag.

@ T3 ARG H, TAH 3 HHI AE o A g, 4-5 T SAH HT Th g qAl
45 Gl Brsa o1 U ST SAIC T F | DR W 1 &6 [Id shiTSg |
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Three semicircles each of diameter 3 cm, a circle of diameter 4:5 cm and a
semicircle of radius 4'5 cm are drawn in the given figure. Find the area of
the shaded region.

<— 3 cm 3 cm 3cm —

2-4 FHl TS AT 0-7 FHI IS % U 39 FI-gAT 9@ H 9@ o duH
S8 9 A A o1 U AR % I L Hebrel ot San @ | §9 gh
318 &1 FA TS &THBA 14 HIT |

From a solid right circular cylinder of height 2:4 cm and radius 0-7 cm, a
right circular cone of same height and same radius is cut out. Find the

total surface area of the remaining solid.

Ife Th THIG A HT 1097 Ye 52 dAT 1741 UE 139 Ue ¥ 20 Ifues 7, @
AT A 74 Fifsra |

If the 10" term of an A.P. is 52 and the 17! term is 20 more than the
13th term, find the A.P.

i x § TR (¢ - ab) x? - 2 (% —be) x + b% —ac = 0 %H@Wﬁ,?ﬁ
ESI'TEQ%HT??Ia:O %211 a3 + b3 + ¢3 = 3abe %I

If the roots of the equation (c®2—ab)x2 -2 (a2 -bc)x + b2 —ac=0in x are
equal, then show that either a =0 or a% + b3 + ¢ = 3abe.

7 P.T.O.
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@ ug g
SECTION D

J97 &A1 21 G 31 TF J9F J97 F 4 3F & |

Question numbers 21 to 31 carry 4 marks each.

21.

22.

23.

24.

30/2

af¢ fag Ak + 1, 2k), B(3k, 2k + 3) @ C(5k - 1, 5k) T@ &, A k H1 9H
F1a HIfT |

If the points A(k + 1, 2k), B(3k, 2k + 3) and C(5k — 1, 5k) are collinear,
then find the value of k.

a1 fafsrr arat =1 weh T et TR | MRk F1d HifST fob uTea dwnsTt o
(i) IS 99 AT, 3R
(i)  TUFHA d9 BT |

Two different dice are thrown together. Find the probability that the
numbers obtained have

(1) even sum, and
(i1)  even product.

T PIS ABC 1 T hifse e s BC = 7 9t, £ B = 45°, £ A = 105°
B | T8 T 3 BIS 1 T hifog [eh! Y8 A ABC 31 &7 fsti 6
3 o

2 T Rl

4

Construct a triangle ABC with side BC = 7 ecm, £ B = 45°, £ A = 105°.

Then construct another triangle whose sides are % times the

corresponding sides of the A ABC.

fordt aniotar gugw a1 °, 22 HY. x 20 Hi. I B9 4 I dgHL 2 Hl. YR
& =ATE qUT 3-5 H. TS & Ueh doHhR oo H 37T 8 | Il 3h W =0 &1,
T hIfT fop et o forct A g3 | STet EReor W 3 fomR =3k HiNY |

In a rain-water harvesting system, the rain-water from a roof of
22 m x 20 m drains into a cylindrical tank having diameter of base 2 m
and height 35 m. If the tank is full, find the rainfall in cm. Write your

views on water conservation.
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25. fag S for ga & foreft amer fog & 9a W @i € & waei-Xasti $i carsar
HAH Bl 8 |
Prove that the lengths of two tangents drawn from an external point to a
circle are equal.

26. @ TE AHA #, XY q1 X'Y', O hg arel o1 1 &1 wHiat el @ § o1 wh
= TRi@ AB, frweht i foig € 8, XY &1 A @21 X'Y' %1 B W ¥fi=sq
w7 | fag Hifse 6 2 AOB = 90°.

X P AY

1
T

A

v

A

/ C
X’ Q B v
In the given figure, XY and X'Y' are two parallel tangents to a circle with

centre O and another tangent AB with point of contact C, is intersecting
XY at A and X'Y' at B. Prove that £ AOB = 90°.

. P AY
o
/ C
)I(/ Q B Y} .
30/2 9 P.T.O.
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Ife g FHIR ATl o TUW n TG & ANTHA 1 STHAM (7n + 1) : (4n + 27) B,
dl 3k 99 TSl 1 IIUTA AT T |

If the ratio of the sum of the first n terms of two A.Psis (7n + 1) : (4n + 27),
then find the ratio of their 9" terms.

1 + 1 =11, X # §, 5
2x -3 Xx-5 9 2
Solve for x :
1 + 1 =11, X # §, 5
2x-3 x-5 9 2

T et 300 FoRt 1 gl THEHE A1 § T HA 2 | G RIS H A
5 forfi/ereT sigr € ST, a1 9T H 2 9 W IHY Al B | TSl i A =
Tq I |

A train covers a distance of 300 km at a uniform speed. If the speed of the

train is increased by 5 km/hour, it takes 2 hours less in the journey. Find

the original speed of the train.

T AR 1 A1 W Uh ATk THEHH = § HHR b SR STl g8 HR H
@ar 2 | Afg 12 fire & %R &1 79w S ufEfda gt 30° F 45° & ST
8, a1 A1 Y foh 31a fopa ww H R MR o vg= ST |

A man observes a car from the top of a tower, which is moving towards
the tower with a uniform speed. If the angle of depression of the car
changes from 30° to 45° in 12 minutes, find the time taken by the car now
to reach the tower.
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& TE 3Tehfd H, A ABC U "uehiv fiys B fSem £ A, 90°2 | AB, ACd BC
! SATE TR LT i T 7 | DATIRA 9T I &THA F1G hIT |

In the given figure, A ABC is a right-angled triangle in which £ A is 90°.
Semicircles are drawn on AB, AC and BC as diameters. Find the area of

the shaded region.
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